Order No. V3043

Description: WS2 MAV & NHWB Service Pack

Order No. Description Quantity
V3078 WS2 Drive Asy 1

V3110-01 WS1 Drive Reducing Gear Plain 3

V3262-01 WS15&2 Alt/2By Reduct Gear Cvr Asy 1
V3264 WS2H Bypass Reduct Gear Axle 3
V3592 Screw #8-1 PHPN T-25 SS 3

Form No. V3215-22 « 3/25/2015

Order No. V3043

Description: WS2 MAV & NHWB Service Pack

Order No. Description Quantity
V3078 WS2 Drive Asy 1

V3110-01 WS1 Drive Reducing Gear Plain 3

V3262-01 WS15&2 Alt/2By Reduct Gear Cvr Asy 1
V3264 WS2H Bypass Reduct Gear Axle 3
V3592 Screw #8-1 PHPN T-25 SS 3

Form No. V3215-22 « 3/25/2015

Order No. V3043

Description: WS2 MAV & NHWB Service Pack

Order No. Description Quantity
V3078 WS2 Drive Asy 1

V3110-01 WS1 Drive Reducing Gear Plain 3

V3262-01 WS15&2 Alt/2By Reduct Gear Cvr Asy 1
V3264 WS2H Bypass Reduct Gear Axle 3
V3592 Screw #8-1 PHPN T-25 SS 3

Form No. V3215-22 « 3/25/2015

Order No. V3043

Description: WS2 MAV & NHWB Service Pack

Order No. Description Quantity
V3078 WS2 Drive Asy 1

V3110-01 WS1 Drive Reducing Gear Plain 3

V3262-01 WS15&2 Alt/2By Reduct Gear Cvr Asy 1
V3264 WS2H Bypass Reduct Gear Axle 3
V3592 Screw #8-1 PHPN T-25 SS 3

Form No. V3215-22 « 3/25/2015




